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QUESTION 1

Which two methods are available for authentication to a Unified Access Gateway? (Choose two.)

A. Web Services Federation

B. Smart Cards

C. OpenlID Connect

D. Open Authentication (OAuth)

E. Security Assertion Markup Language (SAML)

Correct Answer: BE

https://techzone.vmware.com/blog/what-oauth-learning-basics The following authentication mechanisms are available:

AD credentials, RSA SecurlD , RADIUS , Smart cards , Security Assertion Markup LangUnified Access Gateway
(SAML)

QUESTION 2

A user is assigned two writable volumes, one created using a Windows 7 and another using a Windows 10 machine.
Which of the following scenarios will happen when the user logs on to a Windows 10 VM?

A. Both writable volumes gets attached to the Windows 10 machine.

B. Since a machine can have only one Writable Volume attached to it at a given point in time, and the user has two
assigned writable volumes, none of them gets attached.

C. Since a machine can have only one Writable Volume attached to it at a given point in time, the user cannot have two
assigned writable volumes.

D. The writable volume created using a using Windows 10 machine gets attached.

Correct Answer: D

A user can have more than one Writable Volume attached at the same time if the volume is OS-specific, or created for a
computer with a specific prefix. For example, suppose that you create a Writable Volume for each of the following: A
Windows 7 machine A Windows 10 machine A computer with Win2012-dev prefix to its name A computer with
Win2012-test prefix to its name Then, when the user logs in to these different machines at the same time, each Writable

Volume that is assigned to the specific machine is attached to the user at the same time.

https://docs.vmware.com/en/VMware-App-Volumes/2206/app-volumes-admin-guide/GUID-B527414C-
CODC-4096-89E8-D4E192C4131D.html

QUESTION 3

Where are exclusions specified for Writable Volumes to prevent App Volumes from persisting specific data between
sessions?
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A. config.ini

B. snapvol.cfg

C. svservice.log

D. json.cfg

Correct Answer: B

Reference: https://docs.vmware.com/en/VMware-App-Volumes/2103/app-volumes-admin-

guide/GUID-0756B481-C6F8-48E3-AAC3-ADC79F98BEB1.html https://docs.vmware.com/en/VMware-App-
Volumes/2006/app-volumes-admin-guide/GUID-73986A35-FO00B-459A-AA0E-AB69FF858452.html

QUESTION 4

An administrator is deploying Horizon and wants to enable users to connect from the internet. What does the
administrator need to deploy?

A. Unified Access Gateway in the DMZ
B. Replica Connection Server in the DMZ
C. New Horizon Pod in the DMZ

D. Security Server in the DMZ

Correct Answer: A

QUESTION 5
DRAG DROP
Drag and drop the TLS Configuration steps on the left into the correct sequential order on the right.

Select and Place:
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TLS Certificate Configuration Step

Modify the certificate-friendly name to
vdm

Import the TLS certificate into the
Windows local computer certificate store

Configure clients to trust the root and
intermediate certificates

Get a new signed TLS certificate from a CA

Correct Answer:

TLS Certificate Configuration Step

Latest 2V0-51.21 Dumps

Correct Sequence

Step 1

Step 2

Step 3

Step 4

Correct Sequence

Step 1

Step 2

Step 3

Step 4

2V0-51.21 PDF Dumps

Get a new signed TLS certificate from 2 CA

import the TLS certificate into the
Windows local computer certificate store

Modify the certificate-friendly name to
vdm

Configure clients to trust the root and
intermediate certificates

2V0-51.21 Practice Test

Latest 2V0-51.21 Dumps | 2V0-51.21 PDF Dumps | 2V0-51.21 Practice Test 4/4


https://www.passapply.com/2v0-51-21.html
https://www.passapply.com/2v0-51-21.html
https://www.passapply.com/2v0-51-21.html
http://www.tcpdf.org
https://www.passapply.com/2v0-51-21.html
https://www.passapply.com/2v0-51-21.html
https://www.passapply.com/2v0-51-21.html

